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|Time - 3 hours

What are the factors affecting 1 of a conductor ?

What type of supply used for b g -
What are the alloys of copper ?

Name the two types of mica.

Write EM.F. equation of a D.C

What are the losses of transii

Define slip of induction 1

Nmtwom

Wﬁwﬂnmﬂeﬂndh lour coded resister.
(Red, Violet, Brown, §i (10x2=20)
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(Answer any five full questions from the following)
State and explain Kirchhoff™s law. 8
The followings are the details of the load mmw.

supply meter. What will be the tota y ¢ d for month of June ?

(i) Six light of 60 W each work 'l""h)’-

(i) Two heaters of 1000 W each hlhuurpud-y

(i) One electric iron of 750 Wy

(v) Six fans of 60 W each working 18 hours per day. 8
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Write care and maintenance of lead acid
Derive the expression for e of three capacitors C1, C2
and C3 are connected in :
(i) Series (ii)

State and explan Faraday's law

What are the advantages of 3
Define :

(i) Frequency
@) Amplitude

A coil of resistance 1002 and §
condenser of capacitance 150
Determine

(i) Impedance
(i) Currem
() Power factor

What are the advantages of alu
) What are the different types of in

Give example.

Name the various parts of a de |
How the DC generators are class

Explain with figure.

Give the constructional details of

Explain the construction and
motor.

Explain the difference in condu
energy band dingrams.

Draw the circuit diagram of a hs

Draw and explain the V- ck

over | phase system ?

me ha)ﬂ'm

: d in series with a
znov 50 Hz supply.

rial used for industrial application ?

rding to their field connection ?

'3 phase squirrel cage m
ors and  semiconductors using the

tifier with Tt filter. Explain.
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